

**Exercise 1**

Calculate the following subtractions :

$19 - 6 =$

$6 - 5 =$

$7 - 6 =$

$8 - 6 =$

$37 - 1 =$

$42 - 1 =$

$9 - 4 =$

$28 - 5 =$

$48 - 4 =$

$9 - 5 =$

$36 - 4 =$

$48 - 3 =$

**Exercise 2**

Calculate the following subtractions :

$39 - 5 =$

$7 - 7 =$

$15 - 3 =$

$48 - 3 =$

$33 - 3 =$

$35 - 4 =$

$26 - 3 =$

$48 - 2 =$

$15 - 3 =$

$39 - 1 =$

$26 - 4 =$

$45 - 3 =$

**Exercise 3**

Calculate the following subtractions :

$9 - 6 =$

$6 - 6 =$

$27 - 1 =$

$13 - 1 =$

$28 - 2 =$

$38 - 2 =$

$18 - 2 =$

$49 - 6 =$

$49 - 5 =$

$9 - 7 =$

$7 - 2 =$

$49 - 7 =$

**Exercise 4**

Calculate the following subtractions :

$48 - 5 =$

$16 - 3 =$

$37 - 7 =$

$12 - 2 =$

$21 - 1 =$

$8 - 6 =$

$26 - 3 =$

$27 - 5 =$

$8 - 6 =$

$28 - 5 =$

$18 - 8 =$

$9 - 6 =$